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1)  RBI's approach to measures of money.

2) Factors influencing MEC.

3) Measures to resolve the problem of Non- performing assets.
4) Assets and Liabilities of Commercial Banks.

Marks : 50
CODE -TALON 1243
N.B 1) Q.1is Compulsory
2) Attempt any THREE questions from Q. No 2 to Q. No.6
3) Draw neat diagrams wherever necessary.
4) Figures to the right indicate full marks.
Q.1 A) Define the following 6
1)  Liquidity Trap
2) Velocity of circulation of money
3) Credit Multiplier
B) Distinguish Between :- 4
1) Translation and Speculative Motive
2) Primary and Derivative deposits.
C) Calculate the value of APC and MPC from the given data. 4
Income (Rs. Crores) “Consumption (Rs Crores)
100 ' 85
200 165
300 230
400 . 290
Q.2 “The point of intersection of ADF and ASF determines the equilibrium level of ,
employment” — Discuss. 12
Q.3 A) - Analyse the various phases of a Business cycle with a suitable diagram. 6
B) If the MPC is given as 0.50, explain the working of the investment multiplier 6
with an investment increase of Rs. 10 Crores.
Q.4 A) What are the constituents of Money supply? 6
B) Explain the Classical approach to Demand for money. 6
Qs Explain the concepts of Demand -pull and Cost push Inflation with the
help of a diagram. 12
Q.6 Write Notes ( any 2) 12
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